Y xy 7"7 '010 X,20 Pwa L7023

— IR DR WM AR S PORY
A flowerpot belonging to one, and the plants belonging to another

Overview

The &1 teaches us that if one owns a flowerpot and the other owns the plants in the
flowerpot, if they wish to transfer ownership, the plant owner can acquire the y°xv
through 12°wn, however the Yy Y¥a cannot acquire the 72°wna o°¥Ir, since it is
considered like ¥p7p and needs to be acquired 7112, Our noon discusses the
advantage of teaching us this rule in this particular manner.

N11B0IN comments:
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It is just as true that the X723 could have informed us all these laws in a situation

where the y>3¥ and the 2°v97 belonged to one person -
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Rather the X723 mentioned this situation for a novelty, that even though it is the
owner of the Y>3y who is acquiring the 0°v771, nevertheless he does not acquire the
2T (with oown) -
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Even though the 0°v77 are within his yoxy.

Summary
There is a novelty that the y°xv71 9v2 does not acquire the >y which are in his y>xv.

Thinking it over
1. Why indeed? cannot the y>xv71 9v2 be nnp the 2°v 1 through 131 1737 (like the cases
of 71 YW 1°73, which are considered his q3m)?*

2. Why cannot we learn this ruling by 7n& 5w 2y n y°xv,> where he sold both to one
person and he made a 7>°wn (in the 7°x¥) and nevertheless he is not 7np the oy121°

! The x5 could have said if he sells the %y, only 7>°wn is required, but if he sells the 2’71 we require ApIn.

2 One may have assumed that since the 2y are in his y°xv, he does not need to make a 7P (he should be AP the
2'v71 on account of 7X¥n 11 since they are in his y°xv [see ‘Thinking it over’]), the & 13 teaches that nevertheless he
must make a P11, We would not know this w17°n if it was by 71X 5w 2°vIn poxv.

3 See footnote # 2 (in the parenthesis).

4 See 7910 ann and Awn NYAA.

3 See footnote # 1.

6 See TIM7NT WD TR # 20-24.
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